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= Al 61,845,302 | 100.00 % 38,152,909 | 100.00 % 23,692,393 62.10 %
=& 18,475,814 29.87 % 17,881,421 46.87 % 594,393 3.32 %
JIEHE = 193,612 0.31 % 193,612 0.51 % 0 0.00 %
JI =0l & 2t 193,612 0.31 % 193,612 0.51 % 0 0.00 %
ot ™ = 1,563,153 2.53 % 1,563,153 4.10 % 0 0.00 %
SR 1,563,153 2.53 % 1,563,153 4.10 % 0 0.00 %
A8l S X = 5,502,266 8.90 % 5,374,866 14.09 % 127,400 2.37 %
At = X ot 5,502,266 8.90 % 5,374,866 14.09 % 127,400 2.37 %
Z Mol 2 ==4t= 2,610,742 4.22 % 2,610,742 6.84 % 0 0.00 %
PRS2 DS B 2,610,742 4.22 % 2,610,742 6.84 % 0 0.00 %
ALENE=Z 8,606,041 13.92 % 8,139,048 21.33 % 466,993 5.74 %
S AIH = 0t 3,146 0.01 % 3,146 0.01 % 0 0.00 %
WS 4,588,149 7.42 % 4,310,365 11.30 % 277,784 6.44 %
Gf JHQI 2 1t 4,014,746 6.49 % 3,825,537 10.03 % 189,209 4.95 %
A & 43,369,488 70.13 % 20,271,488 53.13 % 23,098,000 | 113.94 %
S I AYE 43,369,488 70.13 % 20,271,488 53.13 % 23,098,000 | 113.94 %

SN 43,369,488 70.13 % 20,271,488 53.13 % 23,098,000 | 113.94 %




